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ABBREVIATIONS  
 
DS = double stitch  
R = ring  
Ch = chain  
HCL = hanging cluny  
+ = join  
-  = picot  
Clr = close ring 
 
1  shutlle 
3  needle sewing 
3  thread floss 
 
      Seed bead ( 13) 
 
 
 
 
That earring is done in a round only 
 
R = 4DS - 4DS- 4DS - 12DS. Clr. 
HCL = 19 passes 
 
Hanging cluny 3 colors. 
 
1 - Place in the shuttle thread, 13 seed beads. 
2 - Make the loom on hand for hanging cluny, sliding 1 seed bead.  
3 - Use as a central thread, 3 floss thread. 
4 - Let the green line on the left side of the hand, and the red and pink on the right.  
5 - Start making a pass with the green thread. 
6 - Now do the same procedure with the rose thread and then the red. 
7 - Repeat these passes until the desired size of cluny hanging (19 steps) 
 
To close the cluny 
 
Pass up a thread at a time, using a floss thread for each thread. 
The last thread with seed beads should be pulled slowly until the cluny is securely. 
 
Ch 1 = 1DS      1DS      1DS      1DS + ( 2º picot R ) 
HCL 2 = 19 passes 
Ch 2 = 1DS      1DS      1DS      1DS + ( 3º picot R ) 
HCL3 = 19 passes 
Ch3 = 1DS      1DS      1DS       1DS + ( 4º picot R ) 
HCL 4 = 19 passes. 
Ch4 = 7DS – 7DS + (1º picot R ) 
Cut & Tie. 
Place the hook for earring. 
 
 



DIAGRAMA 
 
 
 
 
 
 
 
 

 
 

 
 


